

160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722

Mobile: 9688-0413 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

## **Invoice**

Customer: Zaw Myo Tun

C/o:

7 Sin Ming Industrial Estate Sector C #01-94

Singapore 575642

Date: 15.10.2019

Invoice No: NS-2019-451

		Amount			
Vehicle No:	SJH3334G				
Make & Model:	Toyota Axio (A)				
 Our reference:	AAS/2019/451				
Services rendered	l for appraiser / inspection repo				
Survey Fee					
Photographs					
Transport Fees					
Re-inspection Fees					
SGD Dollar : One th dollar	ousand three hundred and fifty only	Total:	SGD	\$ 1,350.00	

wotes:

All cheques payment should be crossed and made payment to "Absolute Appraisal Services Pte Ltd"

Please indicate our "Invoice No." on the reverse side of the cheque.

Please do not hesitate to contact us should you have any enquires.

Absolute Apprairal Services Pte Ltd



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722

Mobile: 9688-0413 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

Vehicle Inspection Report

To: Zaw Myo Tun

C/o: 7 Sin Ming Industrial Estate Sector C #01-94

Singapore 575642

Report No: AAS/2019/451

Date of report:

15.10.2019

Date of request:

30.08.2019

Date of inspection:

30.08.2019

Date of accident:

30.08.2019

Claim type: Third Party Claim

Particulars of affected vehicle:

Registration no:

Make/Model:

SJH3334G

Toyota Axio (A)

Year of registration:

2008

Colour:

Metallic Blue

Odometer:

202874 km

Engine Capacity: Engine no:

1496 сс

Chassis no

1NZD018008

Chassis no:

NZE1416079014

Condition of tires:

Front Left:

6mm

Make:

Hankook 6mm

Rear Left: Make:

Hankook

Front Right:

6mm

Make:

Hankook 6mm

Rear Right: Make:

Hankook

Type of road wheel:

Alloy

(The above represent the remaining life of the tire thread)

Pre-accident condition (Static tests only)

General Bodywork

: Good

Paintwork

: Good

Handbrake

: In order

Footbrake

: In order

Steering

: In order

parent engine modification

: Nil

## The Assignment

The inspection was conduct at M/s.

MJE Motor

7 Sin Ming Industrial Estate Sector C #01-94

Singapore 575642

(Subsequent inspection was conducted)

**Assessment** 

Repairer's estimate:

\$ 31,670.68

Revised estimate:

\$ 26,449.13

Recommended reserve:

\$ 21,150.00 (Lump sum)

Estimated normal duration of repairs: 20 Working days



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722

Mobile: 9688-0413 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

Vehicle No: SJH3334G

Report No: AAS/2019/451

#### W/O PREJUDICE

### Point of impact

At the front and rear portion.

### General description of damages

The bonnet, front grille, headlamps, front bumper, front fenders, front doors, radiator support panel, aircon condenser, radiator, cooling fans, boot lid, tail lamps, tail lamp panels, rear bumper, LHR fender, rear end panel, spare tyre panel, rear chassis member, etc.

Other parts were also found damaged. (See schedule for details)

#### **Recommendation**

The estimate cost of repair submitted by M/s MJE Motor as per schedule attached have been revise and scrutinize. We list the breakdown of our findings and recommendation as per attached.

Our adjusted amount for the cost of repair is SGD \$26,449.13

#### Conclusion

The repairer has agreed to undertake the repair at a lumpsum of SGD \$21,150.00

Under normal circumstances, the repair of the damaged vehicle should be completed within a reasonable period of 20 working days.

We have **Not Authorised** and/or instruction to the repairer to proceed with the repairs. This inspection was conducted entirely on a 'Without Prejudice' basis.

We are pleased to advise that the inspection was carried out accordingly and hereby submit our appraisal report which includes 200 photographs.

Your Faithfully Absolute Appraisal Services Pte Ltd



Nicky Seah Automobile Appraiser MSAAA / MSMCTA



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722

Mobile: 9688-0413 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

TALL L. N. CHI2224C					Report No: AAS/2019/451				
Vehicle No. 3/1133344									
Appraisement Schedule									
S/N	Parts Description	Qty	Condition			Rep	oairer's Est	Rev	ised Est
1	Bonnet	1	Dented			\$	1,180.20	\$	1,180.20
2	Bonnet hinge LH/RH	2	Bent	\$	89.30	\$	178.60	\$	178.60
3	Bonnet seal	1	Necessary			\$	98.40	\$	98.40
4	Bonnet lock	1	Distorted			\$	151.30	\$	151.30
5	Front grille	1	Cracked			\$	580.30	\$	580.30
6	Front grille emblem	1	Necessary			\$	54.70	\$	54.70
7	Headlamp LH/RH	2	Cracked	\$	785.30	\$	1,570.60	\$	1,570.60
8	Front bumper	1	Dented/Torn			\$	966.40	\$	966.40
	Front bumper retainer LH/RH	2	Necessary	\$	68.00	\$	136.00	\$	136.00
10	Front bumper reinforcement	1	Dented			\$	439.50	\$	439.50
11	Front bumper absorber	1	Dented/Cracked			\$	172.30	\$	172.30
12	Front bumper arm LH/RH	2	Dented	\$	125.20	\$	250.40	\$	250.40
13	Front fender LH/RH	2	Distorted/RH Repair	\$	960.80	\$	1,921.60	\$	960.80
14	Front fender liner LH/RH	2	Serviceable	\$	189.50	\$	379.00		=
15	Radiator support panel	1	Dented			\$	980.40	\$	980.40
16	Brace panel	1	Dented			\$	74.80	\$	74.80
17	Aircon condenser	1	Bent/Punctured			\$	1,404.20	\$	1,404.20
18	Radiator	1	Bent/Leaked			\$	1,825.10	\$	1,825.10
19	Fan shroud	1	Cracked			\$	221.40	\$	221.40
20	Fan blade	1	Distorted			\$	129.60	\$	129.60
21	Fan motor	1	Malfunctioned			\$	398.50	\$	398.50
22	Boot lid	1	Dented			\$	1,159.30	\$	1,159.30
23	Boot lid moulding	1	Serviceable			\$	263.20		<u>;</u>
	Boot lid emblem	1	Necessary			\$	65.80	\$	65.80
5	Boot lid nameplate 'Axio'	1	Necessary			\$	38.40	\$	38.40
26	Boot lid badge 'X'	1	Necessary			\$	32.70	\$	32.70
	Boot lid hinge LH/RH	2	Bent	\$	145.80	\$	291.60	\$	291.60
28	Boot lid inner trim	1	Serviceable			\$	185.40		150
29	Boot lid stopper	4	Necessary	\$	8.30	\$	33.20	\$	33.20
30	Boot lid lock	1	Distorted			\$	178.80	\$	178.80
31	Boot lid striker	1	Distorted			\$	57.60	\$	57.60
32	Boot lid weather-strip	1	Necessary			\$	187.70	\$	187.70
33	Tail lamp LH/RH	2	Cracked	\$	667.90	\$	1,335.80	\$	1,335.80
34	Tail lamp panel LH/RH	2	Dented/RH Repair	\$	391.60	\$	783.20	\$	391.60
35	Tail lamp clips	2	Necessary	\$	9.30	\$	18.60	\$	18.60
36	Rear bumper	1	Dented	ŕ		\$	1,084.45	\$	1,084.45
37	Rear bumper retainer LH/RH	2	Cracked/Necessary	\$	83.60	\$	167.20	\$	167.20
38	Rear bumper support LH/RH	2	Cracked/Necessary	\$	42.10	\$	84.20	\$	84.20
39	Rear bumper arm LH/RH	2	Dented	\$	81.80	\$	163.60	\$	163.60
40	Rear end panel	1	Dented	•		\$	591.20	\$	591.20
41	Rear end panel top garnish	1	Dented/Deformed			\$	288.65	\$	288.65
42	Floor panel	1	Distorted/Repair			\$	1,071.70		
43	Floor panel board	1	Dented/Deformed			\$	315.60	\$	315.60
43	1 1001 paner board	1	201104/201011104			·			Page 3 of 5



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722

Mobile: 9688-0413 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

	APPRAISAL SERVICES								
Veh	icle No: SJH3334G					Rep	ort No: AA	S/2019/	451
	C halt	1	Serviceable			\$	43.70		iei .
44	Spare tyre bolt	1 1	Necessary			\$	83.90	\$	83.90
45	Rear windscreen moulding	1	Dented/Distorted			\$	1,088.70	\$	1,088.70
46	LHR fender	2	Delited/Distorted	\$	396.70	\$	793.40	\$	793.40
47	Rear fender inner trim LH/RH	2.		Ψ	570110	4			
				То	tal:	\$ 2	23,520.90	\$ 2	20,225.50
				-25	5%	\$	5,880.23	\$	5,056.38
				List	total:	\$ 1	17,640.68	\$ 1	15,169.13
	The state of the s	1	Missing			\$	70.00	\$	70.00
1	Front number plate	1	Missing Necessary			\$	50.00	\$	50.00
2	Front bumper clips	1set 1	Necessary			\$	40.00	\$	40.00
3	Radiator coolant		Necessary			\$	50.00	\$	50.00
4	Boot lid inner trim clips	1set 1	Dented			\$	70.00	\$	70.00
5	Rear number plate	1set	Malfunctioned			\$	380.00	\$	380.00
6	Reverse camera	1set	Necessary			\$	50.00	\$	50.00
7	Rear bumper clips	1set	Cracked			\$	300.00	\$	250.00
8	Reverse sensor		Necessary			\$	60.00	\$	40.00
9	Rear glass sealant	1 4	Necessary	\$	60.00	\$	240.00	\$	160.00
10	Joint sealant	4	Necessary	Ψ	00.00	Ψ	210.00	4	
				Special r	nett total:	\$	1,310.00	\$	1,160.00
				Parts	Total:	\$	18,950.68	\$	16,329.13
				7 517 50		·	•		
S/NT	Labour Description					Rep	pairer's Est	Re	vised Est
	Check front section lightings & v	virings.				\$	80.00	\$	50.00
2	Replace aircon condense. Vacuu	m & re	fill aircon gas.			\$	180.00	\$	150.00
3	3 Replace radiator & cooling fans. Conduct engine cooling test.				\$	150.00	\$	120.00	
4	4 Anti rust treatment on front affected panels.			\$	200.00	\$	150.00		
5				\$	2,200.00	\$	1,600.00		
	front damaged parts, realign aff	ecteu ai	tea.						
6	Spray painting on front replacer	nent &	affected parts			\$	2,500.00	\$	2,100.00
7	Check rear section lightings & w	rirings.				\$	80.00	\$	50.00
8	Dismantle & transfer boot lid co	mpone	nts.			\$	120.00	\$	100.00
9	Renew reverse camera.					\$	180.00	\$	150.00 Page 4 of 5
									J 3



160 Sin Ming Drive #05-16 Sin Ming AutoCity (S) 575722

Mobile: 9688-0413 Fax: 6266-7396 Email: absolute.app.svcs@gmail.com

Vehicle No: SJH3334G	Rep	Report No: AAS/2019/451				
10 Renew reverse sensor.	\$	80.00	\$	50.00		
11 Removal & refitting of rear trims, rear seats to assist replacement/repairs.	\$	200.00	\$	150.00		
12 Dismantle & refitting of rear glass.	\$	200.00	\$	180.00		
13 Dismantle & refitting of fuel tank.	\$	150.00	\$	120.00		
14 Anti rust treatment on rear affected panels.	\$	200.00	\$	150.00		
To conduct panel beating, welding, straightening of damaged panels, renew rear damaged parts, realign affected area.	\$	4,000.00	\$	3,200.00		
16 Spray painting on rear replacement & affected parts.	\$	2,200.00	\$	1,800.00		
Labour Total:	\$ 1	2,720.00	\$	10,120.00		
Grand Total:	\$ 3	31,670.68	\$ :	26,449.13		

The final adjusted lump sum amount is \$21,150.00

Under normal circumstances, the repair should be completed within a reasonable period of 20 working days.

200 Photographs were taken at the time of inspection.





































































































